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* Krasnoye — the village in
Arzamasskaya district

Krasnoye has an enormous hidden

~ touristic potential because:

* it has a pure continental climate with
mild winter and summer

* Itis a periphery that locates between
such major cities as Kazan and Moscow

* ecological situation allows realize
project without any injuries for
vacationers |




Situated on the intersection of rail lines
that connect:
Moscow and Kazan

Engineering communications o
provide Krasnoye with regular
supply of:

~ . * pure water from southwest of

* Nizhny Novgorod and Penza
@[ ‘&- J;% : : %

Arzamas district
. natural'éas;f;om north to south
(from Saratov to Cherepovets)

53" « electricity from power plant

There is also highways that connect:
* Nizhny Novgorod and Saransk
Arzamas and Murom

«Arzamasskaya» that located to
the north 3
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There is 7 platform in all for
«green» business

Investment area 9 and 10
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The largest investment area in Krasnoye (almost 14 hectare)

Railways station locates within 2 km from area

Domestic buildings locate within 2 km
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Access to the infrastructure a

costs for its construction

llow developer decrease
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Government of Nizny
Novgorod region provides
entrepreneur with subsidies

o .

They are directed for
compensation 2/3 of
refinancing rate

(0]
Compensate 50% of
credit issued in foreign
currencies
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| * Creation hotel-tourist

Project value for tourist

industry in the region

e Optimal efficiency
indeces (Investment
volume)

complexes

* Development the
sphere of additional
service

The preferences provide for
the 5 years term
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Entertainment

Cossacks and
Robbers

i
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GorelRi (Burners Game)
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If a “burner” catches a pair of
players , the boy has to take his S \
place, while he plants himself @?\ | ;

with the girl at the head of the [B TSy
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Enjoying the river
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Animators

1

Domovo
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Animators

Koschei the
Immortal




e The Princess Who Never Smiled
e etc




Watching the stars while having a

picnic

; R R .V 7/ A
, 2’, Additional price for food
“ gl and drinks for the picnic



Russian cuisine

Breakfast gL Supper

Buckwheat porridge . ORroshka (cold souj
with milR, Shashlik,

ey | M.



Berries

Raspberries

Additional price
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Winter entertainment

e Building snowmen

There is a

competition — the

winner gets a
prize
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Playing snowballs

Win the Eatt[e.for

your team
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Riding s[ec[ge and i ice- ants

I
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S k;atmg am{ bathing i in an ice- Iio[e
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There is no russian

winfer without warm

. russian sauna



jln.zazz?;g taste

& quality +°

reasonable
price
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Pancakes , Pelmeni and

s (. L L i
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Evenmg entertamment
% auyta[es -

Snow Queen

Morozko
_ 12 months
s Christmas tree



For adults — 10000 rub
For kids under 7 years = FREE
For teenagers under 18 years = 40% discount

Monthly profit (10 families
with 1 kid = 20 adults + 5 kids
+5 teenagers) = 230000 rub



Initial costs = 3000000 rub/ for 5 years
Initial costs for 1 month = 50000 rub

T nc ol iy B WS o R A (I + .

Expenses on food = 50000 rub
Expenses on salary (5 workers, 15000 rub. per
month) = 75000 rub



Profitability (monthly) G
= Profit/Costs = b
230000/175000 =
1,314 (131,4%)




Thank you for your

attention!
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